Bellwork  Hon Alg2  Monday, April 10, 2017

1. In the figure at the right 759
line i is parallel to line j.
What is the value of k?

kO

Note: Figure not drawn to scale.

29°

2. An architect drew the
at the right while designing
a roof. The dimensions
shown are for the interior
of the triangle.

What is the value of
Cos X ? f 32 ft ’

Note: Figure not drawn to scale.

. 3. In planning maintenance for a city’s infrastructure a civil engineer estimates that, starting from the
~ present, the population of the city will decrease by 10% every 20 years. If the present population of the
city is 50,000, which of the following expressions represents the engineer’s estimate of the population of

the city ¢ years from now? .
L i - .
A. 50,000(0.1)*  B. 50,000(0.1)*®  C. 50,0000.9)*  D. 50,000(0.9)*

4. The sum of three numbers is 855. One of the numbers, x, is 50% more than thé sum of the other.two

numbers. What is the value of x?
A. 570 B. 513 C. 214 D. 155

5. If ——g— <-3t+1< —%, what is one possiblé value of 9t -3 ?

6. Find the measure of Angle A to the nearest tenth of a degree

A 3 C

55

B

-Note: Figure not drawn to scale.
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3. In planning maintenance for a city’s infrastructure a civil engineer estimates that, starting from the
present, the population of the city will decrease by 10% every 20 years. If the present population of
the city is 50,000, which of the following expressions represents the engineer’s estimate of the
population of the city ¢ years from now? —
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4. The sum of three numbers is 855. One of the numbers, x, is 50% more than the sum of the other

X = # 20yr Periods = /z,o

two numbers. is the value of x? _
A 570 (B.513> C. 214 D. 155 X+Yy+2 =555
4><, - :7(7/1’2:)
4 3 U )
5. If —% <-3t+1< —%, what is one possible value of 97— 3 ? Yax = FtE
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6. Find the measure of Angle A to the nearest tenth of a degree CANY HE b;}wr’{«‘v\ % ;
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